
54

8700 Series
RIM EXIT DEVICE

PUSH BAR ASS’Y

 * INCLUDED IN SCREW PACK P/N 91-0837-01
** INCLUDED IN FRAME KIT P/N 91-0991-02

METAL END CAP
P/N 41-0903-IP

1

2
3

4

5

7

8

9

10

11

12

STRIKE SPACER
P/N 22-0481-04-MP
4 REQ'D

**

**

**

**

*

**STRIKE SPACER
P/N 22-0481-03-MP
1 REQ'D

STRIKE
P/N 22-0430-IP

#10-32 X 3/4" FLAT HEAD SCREW
P/N 91-0837-02
2 REQ'D

STRIKE PLUG
P/N 25-0625-MP
2 REQ'D

#10-32 X 5/8" SCREW
SELF-TAPPING
4 REQ'D

DOGGING KEY
P/N 29-0481-MP

DOGGING ASS’Y
P/N 31-0265-IP

#10 X 1-1/4" PAN HEAD SCREW
SELF-TAPPING
6 REQ'D

#10 X 1-1/2" ROUND HEAD SCREW
SELF-TAPPING
2 REQ'D

METAL END CAP ASS’Y
P/N 41-0902-03-IP

CYLINDER PLATE
P/N 22-0480

REQ'D FOR WOOD
DOOR ONLY

*

*

6 MOUNTING BASE KIT
P/N 91-8800

EXIT DEVICES


